Unit 5 NOTES Honors Common Core Math 2 12

Day 5: Law of Sines and the Ambiguous Case

Warm-~Up:
1. The straight line horizontal distance between a window in a school building and a skyscraper is 600ft.
From a window in the school, the angle of elevation to the top of the skyscraper is 38 degrees and the
angle of depression to the bottom of the tower is 24 degrees.
Approximately how tall is the skyscraper?
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2. A communications tower is located on a plot of flat land. It is supported by
You measure that the longest guy wire is anchored to the ground 112 feet from the
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base of the tower and that it makes an 76° angle with the ground. < Tower
How long is the longest guy wire and at what height is E?Ef%nnecfed to the tower? Guy
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Notes Day 5: Law of Sines and the Ambiguous Case

With SSA situations, many interesting cases are possible, We will look at the 3 cases that occur given

an acute angle.

If two sides and an angle opposite one of them is given (SSA), three possibilities can occur.
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Before we look at the cases, let's use what we know about right triangles to set up the ratio for the
following triangle.

When we solve for h, we get h = b CELL Y ﬁg
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Summary:
If the side across from the given angle is SonGAEL  than the other side, then check

for the ambiguous casel
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Ex. 1: SS5A Ambiguous Case y
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Ex. 2: Solve a Trlangle when one side is 27 meters, another side is. ithers and a -
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non-inciuded angle is 33°.
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= 93 ‘and b = 125,

Ex. 3: Solve for all of the missing sides and angles given m£C = 48, ¢ 25.
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Ex. 4: Solve for all of the missing sides and angles given mAA
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Law of Sines Practice:

— )
1. For ALMMN,

Find =27, m =15 mmdmsL = 55° Find

all possible md M to the nearest -dcue:e

2. For ADEF,
g =52, F = 41, and mdF = 48°
all possible m4 £ to the nearest degree.
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3. For ADEF,

4. For AABC
d=gp =24 sndwsF = 38° Ho‘w

b=120,c =92, and mel = m%-?*‘ﬂ How
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5. For triangle DEF,d = 25, e = 30, and m< E = 40°. Find all possible meastrements of f to the
nearest whole number, %0 - 22,2900 = {0 F. &
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6. Given A/iBCwsTh £B=34" b = 15em, cmd ¢ = 20cm. , solve the ?mangle.
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7. deen triangle ABC,a = 8, b = 10, and m£A = 34, solve the triangle.
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Day 6: Law of Cosines

Warm-Up:  Solve each proportion:
1y 2x-3 = 10-4x
3

2
2) x+3 = x-1
X+ 2 X -4

Solve each triangle using Law of Sines.

3. 4. mMLC =53, MLB=-44°, b =7
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